
 

What is the reaction rate

in terms of SA
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For the following reaction

a express the rate in terms
of changes in CHI COT and
H2o with respect to time and

b find the rate at which Hao
is increasing when COD is

decreasing at 0.23 mollis
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In the combustion of methane
which reactant has the greatest
rate of disappearance

products
CHy
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Assuming
the reaction proceeds

forward which of the

following graphs is net a

possible graph of concentration

us time for a reactant
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Assuming that each graph
has the same concentration

and time axes which graph
has the greatest initial rate

of disappearance of reactant

Isa
b

i n

Quill

i

i
I l

t t t

c d

l
t t



For the below reaction which
curve represents hydrogen
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Rate Law

Rate KEAT B

K constant specific
to An

m and n exponents
determined by the order

of the reaction

A and B reactants
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Zero order

rate doesn't change as

A doubles
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First order

fate doubles as CA doubles
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Second order

rate quadruples as A

doubles
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Use the following reaction

and data to determine
the individual and overall

reaction orders

NO t CO NO t coz

fate _k NOT.m co

Experiment Initial rate Initial CNOT Initial co
mollis more mom

I 0.0050 0.10 0.10

L O 080 0.40 0.10

Or 0050 0.10 0.20



Rfatffe KCNOIYCHKCNOITC.co

Rate 2 KANODE

rate XENOIT
O 08 O

to.tt
16 4

m
m 2

i
i


